










Find the option which should replace (?)

16 : 16 :: 36 : ?

(A) 3

(B) 9 

(C) 27
(D) 81
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Find the option which should replace (?)

5 : 25 :: 625 : ?

(A) 2 : 4 : 9

(B) 3 : 6 : 9

(C) 1 : 1 : 1
(D) 3 : 9 : 27
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Which of the following diagrams indicate the best relation between

India, Haryana and World ?

A.

C.

B.

D.



Which of the following diagrams indicate the best relation between

Hockey, Football and Cricket ?

A
.

C.

B.

D.



Which of the following diagrams indicates the best relation between

Profit, Dividend and Bonus ?

A
.

C.
D.

B.



Which of the following diagrams indicates the best relation between

Judge, Thieves and Criminals?

A
.

C. D.

B.



Q.(1) Statement : It is desirable to put the child in school at the of 5 or so.

Assumptions :

I. At that age the child reaches appropriate level of development and is 

ready to learn.

II. The schools do not admit children after six years of age.

प्र.(1) कथन: बचे्च को 5 साल या उससे ज्यादा उम्र में सू्कल में रखना वाांछनीन य है।

पूर्वधारणा :
(1)  उस उम्र में बच्चा ववकास के उवित स्तर तक पहांिता है और स खने के वलए तैयार रहता

है।

(2) सू्कल छनीह साल क उम्र के बाद बच्चोां को स्व कार नह ां करते हैं।



Q.(2) Statement : ‘The patient condition will improve after this operation’.

Assumption :

(I) The patient can be operated upon in this condition.

(II) The patient can’t be operated upon in this condition.

प्र.(2)कथन : 'इस ऑपरेशन के बाद रोग क स्थिवत में सुधार होगा'।
पूर्वधारणा :
(I) रोग को इस स्थिवत में ओपेरेट वकया जा सकता है।

(II) रोग को इस स्थिवत में ओपेरेट नह ां वकया जा सकता है।



Q.(3) Statement : Read this book to get detailed and most comprehensive

information on this issue.

Assumption :

(I) The person who want this information can read.

(II) There are other books available on this issue.

प्र.(3) कथन : इस मुदे्द पर ववसृ्तत और सबसे व्यापक जानकार प्राप्त करने के वलए इस पुस्तक को पढें।

पूर्वधारणा :
(I) वह व्यस्ि जो इस जानकार को िाहता है पढ सकता है।

(II) इस मुदे्द पर अन्य पुस्तकें उपलब्ध हैं।



Q.(4) Statement : Railway does not provide concession to any one for

travelling to certain holiday destinations.

Assumption :

(I) Railway services are available for travelling to these holiday destinations.

(II) Railways provides concession to certain persons for travelling to places

other than these holiday destinations.

प्र.(4) कथन : रेलवे कुछनी छुनीवियोां मनाने वाले थिलोां क यात्रा के वलए वकस को भ छूनीट नह ां देता है।

पूर्वधारणा:
(I) रेलवे सेवाएां इन छुनीवियोां के थिलोां क यात्रा के वलए उपलब्ध हैं।

(II) रेलवे छुनीवियोां के वलए छुनीवियोां के थिानोां के अलावा अन्य थिानोां पर यात्रा के वलए कुछनी लोगो को छूनीट प्रदान

करता है।



Q.(5) Statement : Provide mid-day meals to the children in primary schools

to increase the number of students attending schools.

Assumption :

(I) Mid-day meals will attract the children to the schools.

(II) Those children who are otherwise deprived of good food will attend the

schools.

प्र.(5) कथन: ववद्यालयोां में भाग लेने वाले छनीात्रोां क सांख्या बढाने के वलए प्रािवमक ववद्यालयोां

में बच्चोां को वमड डे म ल प्रदान करें ।

पूर्वधारणा :
(I) वमड डे म ल सू्कलोां में बच्चोां को आकवषित करेगा।

(II) वे बचे्च जो अचे्छ भोजन से वांवित हैं, सू्कलोां में भाग लेंगे।



Q.(6) Statement : It is faster to travel by air to delhi from bengalore.

Assumption :

(I) Bangalore and delhi are connected by air.

(II) There are no other means of transport available to delhi from bangalore.

प्र.(6)कथन: बेंगलोर से वदल्ल हवाई यात्रा करना तेज़ है।

पूर्वधारणा :
(I) बैंगलोर और वदल्ल हवाई यात्रा से जुडे हए हैं।

(II) बांगलौर से वदल्ल हेतु पररवाहन के अन्य साधन उपलब्ध नह ां हैं।



Q.(7) Statement : The cost of living has gone up in india.

Assumption :

(I) The price of essential commodities has gone up in recent times.

(II) Many luxury good are available in plenty in the country.

प्र.(7)कथन : भारत में लोांगो के रहने क लागत महांग हई है।

पूर्वधारणा :
(I) हाल के वदनोां में आवश्यक वसु्तओां क वकमते बढ है।

(II) देश में बहत स लक्जर वसु्तएां उपलब्ध हैं।



Q.(8) Statement : An advertisement : “our shoes are for the rich.

Assumption:

(I) Many people like to be labelled as rich.

(II) One can’t become rich unless one has that brand of shoes.

प्र.(8)कथन: एक ववज्ञापन: "हमारे जूते अम रोां के वलए हैं।

पूर्वधारणा:
(I) कई लोगोां को अम र के रूप में लेबल करना पसांद है।

(II) जब तक वकस के पास जूते का ब्ाांड नह ां होता है तब तक कोई अम र नह ां बन सकता है।



Q.(9) Statement : An advertisement : If you want to follow the footprints of

an ideal leader, wear ‘x’ brand shoes.

Assumption :

(I) Most people like to become ideal leaders.

(II) One can’t become ideal leader unless one wears ‘x’ brand of shoes.

प्र.(9) कथन: एक ववज्ञापन: यवद आप एक आदशि नेता के पदविह्ोां का पालन करना िाहते हैं, तो ‘x' ब्ाांड के

जूते पहनें।

पूर्वधारणा :
(I) अवधकाांश लोग आदशि नेता बनना पसांद करते हैं।

(II) जब तक कोई जूते के ‘x' ब्ाांड नह ां पहनता है तब तक कोई आदशि नेता नह ां बन सकता है ।



Q.(10) Statement : His recent investment in share of company ‘A’ is only a

gamble.

Assumption :

(I) He may incur loss on his investment.

(II) He may gain from his investment.

प्र.(10) कथन: कां पन ‘A’ का शेयर माकेट में वनवेश केवल एक जुआ है।

पूर्वधारणा:
(I) वह अपने वनवेश को नुकसान पहांिा सकता है।

(II) वह अपने वनवेश से लाभ प्राप्त कर सकता है।



Q.(11) Statement : With a sense of sincerity , quality teachers can improve

the society .

Assumption :

(I) Quality teachers are sincere.

(II) Sincerity in teaching pays.

प्र.(11) कथन: ईमानदार क भावना के साि, अचे्छ वशक्षक समाज में सुधार कर सकते हैं।

पूर्वधारणा:
(I) अचे्छ वशक्षक ईमानदार हैं।

(II) वशक्षण में ईमानदार का महत्व है।



Q.(12) Statement : Read the notice before entering the club.

Assumption :

(I) People are literate.

(II) Club is not for blind person.

प्र.(12)कथन: क्लब में प्रवेश करने से पहले नोवटस पढें।

पूर्वधारणा:
(I) लोग साक्षर हैं।

(II) क्लब अांधे व्यस्ि के वलए नह ां है।



Q.(13) Statement: Why don’t you invite Sandeep for the Diwali party this year.

Assumption :

(I) Sandeep is not from the same city.

(II) Unless invite Sandeep will not attend the party.

प्र.(13)कथन: आप इस वषि वदवाल पाटी के वलए सांद प को आमांवत्रत क्ोां नह ां करते हैं।

पूर्वधारणा :
(I) सांद प उस शहर से नह ां है।

(II) जब तक सांद प को आमांवत्रत नह वकया जायेगा तब तक वो शावमल नह ां होांगे ।


